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QUESTION 1

An administrator needs to upgrade their Flexible Service Processor\\'s (FSP) firmware for an HMC managed Power 720.
They are currently running AL730_085. The latest corrective service on Fix Central is AL730_1 12_092.

Which statement is correct regarding the installation of this corrective service package?
A. Since this is an HMC managed FSP, the installation of the corrective service will be concurrent.

B. Since the FSP will remain at the same 730 code stream level the installation of the corrective service will be
concurrent.

C. Since the 092 is greater than the currently running 085 fix pack level, the installation of the corrective service will be
disruptive.

D. Since the 112 is greater than the currently running 085 fix pack level, the installation of the corrective service will be
disruptive.

Correct Answer: C

QUESTION 2

A customer determines that run time of a weekly reporting job has begun to increase rapidly over the past several
months. Examination of the file shows only normal size growth of less than 1%.

The entire file is read sequentially by key and is heavily I/O blocked for performance.

What should the administrator do to reduce run-time for the reporting job?

A. Override the file to SEQONLY(*YES).

B. Reorganize the file to remove deleted records.

C. Reorganize the rile in the sequence of the key field.

D. Increase the job\\'s time slice and enable expert cache in the memory pool in which the job runs.

Correct Answer: C

QUESTION 3

A customer is installing a new POWERY7 server with IBM i as the host partition for three additional IBM i partitions. The
server has just one 4 port Ethernet card.

The administrator needs to achieve IP connectively for all four partitions.
What should the administrator do?
A. Purchase additional Ethernet cards for the client partitions.

B. Connect each partition to one of the ports on the 4 port Ethernet card.
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C. On the hosting partition, create a bridge using one of the ports of the Ethernet card to a virtual Ethernet network.
Connect each of the client partitions to the virtual Ethernet network.

D. Connect each partition to a virtual network.Configure IP on each client partition to use the host partition as an IP
gateway.Add routes to the corporate router pointing to the host partition as the gateway to the client partitions.

Correct Answer: C

QUESTION 4

A customer has determined that a large table contains a high percentage of deleted records. Attempts to reorganize the
table to reclaim the deleted record space exceed the available time to keep users locked out. What should the
administrator do to reclaim the deleted record space in the available time?

A. Start the file reorganization with "shared updates."After the reorganization completes, immediately perform a normal
reorganization to reclaim the deleted record space.

B. Start the file reorganization with "allow cancel."After the reorganization completes, at the next outage window perform
a reorganization with "reclaim only" to reclaim the deleted record space.

C. Assure that the file is journaled.Start the file reorganization with "reclaim pending” and "shared updates."At the next
backup specify "complete physical file reorgs" on the library save to reclaim the space.

D. Assure that the file is journaled.Start the file reorganization with "allow cancel" and "shared updates."After the
reorganization completes, at the next outage window perform a normal reorganization to reclaim the deleted record
space.

Correct Answer: D

QUESTION 5
Which statement describes server firmware delivery that uses PTF5 on a POWER?7 system?
A. A single IBM i (57703S1) PTF is ordered to update server firmware.

B. The firmware is ordered using the marker PTF ID, such as MHxxxxx, and is installed with normal IBM i PTE
commands.

C. The server firmware PTE (MFxxxxx) is ordered from the connected HMC and is sent to the service partition for
install.

D. The HIPER PTF group is ordered for the Licensed Internal Code (5770999) and the order is flagged with Include
Firmware Update *YES.

Correct Answer: A
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